Kinn

HSUSUTEILA

A
T

= 8Y/HMIZ olo|x]

il
Iz
g

[
um A
o
F
4r
Ik
ya
11T}
il
0K
[>
rH
n

o

>ro 2 H

[ 218

Lming

oY >+ ol 4o
ya

1= IllrLllu I
o
i
mﬁ
n =
2
gy
[m

(AL

HH.
K0089.0075, K0089.0150

HH2 HZd 4 =8 28

AMIAZ]:
K0101

£H
@i@@ﬂ
e ' |
3 - =
\ o
o EdlEy,
Ll
e P el Al
_ L
™
« 3 E-——1 :
D R
A2l
Al
529

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



°
A 10F =E2HIiT (o]
o 2o S/l EI2] A
EZS 29
TH SASHM=EIYA
FEHS =] st AOIZE © ECofol 77 SEE =EE SRR EE R
37| AtE A 6 Ht F1 6 HF F2 6 HF F3 6 Ht F4
N N N N
K0089.0075 A 0,02 dm? 70° 1000 1600 800 1400
K0089.0150 A 0,04 dm? 85° 1300 1900 1000 1600
K0089.0250 A 0,09 dm? 85° 1600 2400 1200 1800
K0089.0450 A 0,27 dm? 85° 3000 5800 2600 5400
FEHS Ef2l A A1 A2 B BT B3 C C1 D H L L1 M R P=2t5 of=] ==
HE AEZF
6 Hf
K0089.0075 A 16 145 5 24 40 53 18 9 4,4 50 177 32 M5x35  G1/8 2-6 40
K0089.0150 A 12,7 185 7 27 48 64 24 11 51 62 227 42 M6x50  G1/8 2-6 60
K0089.0250 A 19 234 8 3259 89 35 175 7,1 84 309 75 M8x60  G1/8 2-6 55
K0089.0450 A 32 289 10 45 76 12,7 54 25 8,7 122 413 124 M12x100 G1/8 2-6 55

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



